

Pay Estimate Created Date: October 1, 2024

Progress Estimat Numbe 10		The Truesdel	l Corporation of Wis /lidwest	consin, Ir	nc.dba Truesdell	Pay Period Start Pay Period End	2024	Original Contract Amount Net Change Order Amount Current Contract Amount	\$2,187,187.00 \$6,918.60 \$2,194,105.60
Approval Date									By User
October 1, 2024			Generated and	Approved	d (and should be o	considered Dr	aft) at the Proje	ct Office Level by	dentod1
October 1, 2024			Reviewed and Appr	oved (and	d should be consi	dered Draft) a	t the Resident E	Engineer Level by	evendj1
October 2, 2024				Reviewe	d and Approved a	at the Central	Office Controlle	rs Office Level by	ramses1
Original Complet	tion Date	Current Co	Current Completion Date Actu			Date	% of Curre	nt Contract Amount	Complete
October 1, 2	024	Octobe	er 1, 2024					97.38%	
	Contract In	formational Da	tes		Miles	stones			
Date Description	Original Co	mpletion Date	Current Completi	on Date	No Milestones	Exist for Cont	ract		
Acceptance Date									
Awarded Date	January 3, 2	2024	January 3, 2024						
Letting Date	December 1	5, 2023	December 15, 202	3					
Notice to Proceed Da	ite February 5,	2024	February 5, 2024						
Open to Traffic Date									
Work Began Date									

Contract Tot	al Pay For	Estimate No	. 10						
				This Estimate	Previous			To Date	
231215-G03	(djustments mage ct Adjustments	\$418.60 \$6,541.53 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$2,136,193.40 (\$7,277.94) \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$2,128,915.46			\$2,136,612.00 (\$736.41) \$0.00 \$0.00 \$0.00 \$0.00 \$2,135,875.59	
Contract Tot	al Payable	This Estimation	te:	\$6,960.13					
ems Paid Th	is Estimate	Period							
Project Number	Line Number	Item Code		Item Descrip	ption	Unit	Unit Price	Current Installed Qty	Current Installed Amount
JSR0087	0090	6205902A	6 IN. WHITE H PAINT, TYPE I		NE PAVEMENT MARKING	LF	\$0.700	598	\$418.60
Project JSR	0087 - Tota	d.							\$418.60
Overall - To	tal								\$418.60
Contract Adju	istments Th	nis Estimate							
lo Contract A	diustments I	Exist on Cont	ract						
ine Item Adj									

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JSR0087	0100	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Other Item Adjustment	Retroreflectivity Adjustment	22873 LF of 4 in yellow paint. Roadrunner resprayed routes that failed and 80% passing tests. Visually inspected striping at night for 100% pay.			\$6,541.53
Total								\$6,541.53



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

Contract Project Information											
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work						
JSR0087	FAF-160-2 (16)	High friction surface treatment	Various	TANEY	Route 160 near Merriam Woods, Route 76 East of Branson, Route 65 in Hollister, Route 13 and Route 86 in Stone County near Lampe, Route 265 West of Branson, Route 59 in McDonald County near Lanagan, and I 49 in Nevada						

Totals by Job Numbers

SR0087		This Estimate	Previous	To Date
Posted Item I	Pay	\$418.60	\$2,136,193.40	\$2,136,612.00
Gross Item A	djustments	\$6,541.53	(\$7,277.94)	(\$736.41)
	Gross Item Pay	\$6,960.13	\$2,128,915.46	\$2,135,875.59
Incentive		\$0.00	\$0.00	\$0.00
Disincentive		\$0.00	\$0.00	\$0.00
Liquidated D	amages	\$0.00	\$0.00	\$0.00
Other Contra	ct Adjustments	\$0.00	\$0.00	\$0.00



Exceptions (Discrepancies) This Estimate Period No Exceptions Exist on Contract

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

otar rate / an tents / an Estimates (including time Estimate) lote: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	ltem Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
31215-G03	JSR0087	0001	0010	4139905	MISC.HIGH FRICTION SURFACE TREATMENT- BUXITE	89,147.00	0.00	89,147.00	SQYD	89,147.00	\$20.00	\$1,782,940.00
		0001	0020	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$6,000.00	\$12,000.00
		0001	0030	6161005	CONSTRUCTION SIGNS	700.00	0.00	700.00	SQFT	700.00	\$8.40	\$5,880.00
		0001	0040	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	0.00	4.00	EA	4.00	\$109.00	\$436.00
		0001	0050	6161025	CHANNELIZER (TRIM LINE)	150.00	0.00	150.00	EA	150.00	\$20.00	\$3,000.00
	0001 0060 6161040 0001 0070 6161099		6161040	FLASHING ARROW PANEL	1.00	0.00	1.00	EA	1.00	\$1,300.00	\$1,300.00	
			6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	4.00	2.00	6.00	EA	6.00	\$3,250.00	\$19,500.00	
		0001	0080	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$274,710.80	\$274,710.80
		0001	0090	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	3,134.00	598.00	3,732.00	LF	3,732.00	\$0.70	\$2,612.40
		0001	0100	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	38,682.00	0.00	38,682.00	LF	28,259.00	\$0.70	\$19,781.30
		0001	0110	6207001	PAVEMENT MARKING REMOVAL	42,766.00	0.00	42,766.00	LF	9,301.00	\$1.50	\$13,951.50
		0001	0120	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$500.00	\$500.00
	Project JS	SR0087 - To	otal Value	Posted to D	ate as of Report Generated Date							\$2,136,612.00
31215-G03 Ove	erall - Total	Value Post	ed to Dat	te as of Repo	ort Generated Date							\$2,136,612.00



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: JSR0087

Nu	_ine imber	ltem Code	Description		DWR Approval Date		Units	Location		Offset/ Distance		Offset/ Distance	Comments
	0090	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAINT	9/25/24	10/1/24	598.00	LF	1-49	102.906		103.359		Change order 0002

The information below this line are details for Construction Signs (if applicable). No Data Available



Line Item Adjustments by Estimate

Contract ID: 231215-G03

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JSR0087	0090	6 IN. WHITE HIGH BUILD WATERBORNE PAINT	Other Item Adjustment	PPPS	9	Sep 16, 2024	dentod1	(\$65.24)	waiting on retroreflectivity results on 466 LF of 6 in white paint. the quantity was mistakenly paid out to 100% before results were received. this adjustment retroactively withholds 20%
		1 AINT							466LFx\$0.7/LFx20%=\$65.24
				PPPS - Tota	ıl			(\$65.24)	
				REFL	9	Sep 16, 2024	dentod1	\$82.87	2668 LF of 6in white paint. Retroreflectivity results showed 11.2% at 100% pay and 88.8% at 105% pay. Unit price at .70 cents per LF.
				REFL - Tota	ıl			\$82.87	
			Other Item	Adjustment -	Total			\$17.63	
	0090 -	Total							
	0100	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	Other Item Adjustment	PPPS	9	Sep 16, 2024	dentod1	(\$754.04)	waiting on retroreflectivity results on 5386 LF of 4 in yellow paint. the quantity was mistakenly paid out to 100% before results were received. this adjustment retroactively withholds 20%
		WARKING							5386LFx\$0.7/LFx20%=\$754.04
				PPPS - Tota	al			(\$754.04)	
				REFL	9	Sep 16, 2024	dentod1	(\$6,541.53)	22873 LF of 4in yellow paint. Retroreflectivity results showed 29.8% at 0% pay and 56.0% at 80% pay 11.0 at 100% pay 3.2% at 105% pay. Unit price at .70 cents per LF.
					10	Oct 1, 2024	dentod1	\$6,541.53	22873 LF of 4 in yellow paint. Roadrunner resprayed routes that failed and 80% passing tests. Visually inspected striping at night for 100% pay.
				REFL - Tota	ıl			\$0.00	
			Other Item	Adjustment -	Total			(\$754.04)	
	0100 -	Total						(\$754.04)	
JSR0087	- Total							(\$736.41)	
Overall -	Total							(\$736.41)	



There are no contract adjustments to display for this contract.